
2

1 mark

634 ÷ 1 =

3

1 mark

63 ÷ 7 =

1

1 mark

60 × 40

Joe
Typewriter
2400

Joe
Typewriter
634

Joe
Typewriter
9



5

1 mark

75 ÷ 15 =

6

1 mark

6,300 ÷ 7 =

4

1 mark

12 × 50 =

Joe
Typewriter
600

Joe
Typewriter
5

Joe
Typewriter
900



9

1 mark

320 ÷ 4 =

8

1 mark

230 × 1,000 =

7

1 mark

98 ÷ 7 =

Joe
Typewriter
14

Joe
Typewriter
230000

Joe
Typewriter
80



12

1 mark

479 × 1 =

11

1 mark

1,080 ÷ 12 =

10

1 mark

3 × 6 × 10 =

Joe
Typewriter
180

Joe
Typewriter
90

Joe
Typewriter
479



15

1 mark

210 ÷ 3 =

14

1 mark

88 ÷ 11 =

13

1 mark

208 × 0 =

Joe
Typewriter
0

Joe
Typewriter
8

Joe
Typewriter
70



17 Write the missing numbers to make these calculations correct.

2 marks

32 ÷        = 3.2

18

Write the correct symbol in each box to make the statements correct.

2 marks

> =

11 × 10    12 × 9

<

120 ÷ 6    100 ÷ 5

160 ÷ 4    90 ÷ 2

8 × 100    50 × 20

32 ×         = 320

32 ×         = 32,000

16 Circle the number 10 times greater than eight hundred and three.

1 mark
830      8,300      8,030      8,003      803

32 ÷        = 32

Joe
Oval

Joe
Typewriter
10

Joe
Typewriter
10

Joe
Typewriter
1000

Joe
Typewriter
1

Joe
Typewriter
>

Joe
Typewriter
=

Joe
Typewriter
<

Joe
Typewriter
<



19 Write the missing numbers to make these calculations correct.

2 marks

193 ÷          = 1.93

193 ×           = 0

193 ÷          = 19.3

193 ×           = 1,930

21 Write the missing numbers to make this multiplication grid correct.

1 mark

4 20

15

24

18

×

20

Write the four missing numbers.

1 mark

In this grid, there are four multiplications.

× =

× ×

9 × = 36

= =

8

12

Joe
Typewriter
100

Joe
Typewriter
0

Joe
Typewriter
10

Joe
Typewriter
10

Joe
Typewriter
4

Joe
Typewriter
2

Joe
Typewriter
6

Joe
Typewriter
54

Joe
Typewriter
5

Joe
Typewriter
6

Joe
Typewriter
3



23 Write the missing numbers to make this multiplication grid correct.

1 mark

8 56

42

72

54

×

22 Circle the number 100 times greater than fifty four. 

1 mark
54       154       540       5,400       54,000

  

25 Circle the number 100 times greater than thee hundred and one. 

1 mark
3.01       30.1       3,010       30,100       301,000

  

24

Write the three missing numbers.

1 mark

In this grid, there are four multiplications.

3 × 7 =

× ×

6 × = 54

= =

63

Joe
Oval

Joe
Typewriter
9

Joe
Typewriter
6

Joe
Typewriter
7

Joe
Typewriter
21

Joe
Typewriter
9

Joe
Typewriter
18

Joe
Oval

Joe
Typewriter
three

Joe
Rectangle

Joe
Rectangle

Joe
Typewriter
three
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